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Part A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

|

I- He is a woman of ---------- who has never abandoned his principles for the sake of
making money.
1) utility 2) integrity 3) treaty 4) acrimony

2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interval 2) perception 3) zenith 4y distraction

3- Jackson’s poor typing skills were a ---------- to finding employment at the nearby office
complex.
1) hindrance 2) supplement 3) confirmation 4) versatility

4- The judge dismissed the extraneous evidence because it was not --------—- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable

5- Because biology is such a ------e--- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be -------—---
the job. Many industrial diseases mimic sickness from other causes.
1) attributed to 2) precluded from 3) refrained from 4) exposed to

7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4) pursued

8- In the absence of death from other causes, all members of a population may exist in
their environment until the ------—---- of senescence, which will cause a decline in the
ability of individuals to survive.
1) ratio 2) onset 3) core 4) output

9- Before the invention and diffusion of writing, translation was ------—---- and oral;
persons professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous

10-Public attitudes toward business regulation are somewhat ---------- ; most people resent

intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifferent

Part B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The variety of successful dictary strategies (11) -=-=n-m--- by traditionally living populations
provides an important perspective on the ongoing debatc about how high-protein. low-
carbohydrate regimens such as the Atkins diet compare with (12) ---------- underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) ------=--- both help people shed pounds through the same basic mechanism:
(14) ~--mmmmemm major sources of calories. When you create an energy deficit —that is, when you
consume fewer calories (15) --=-m--—-- - —your body begins burning its fat stores and you lose
weight.

11- 1) employed  2) are employed 3) is employed 4) then employed

12- 1) those that ~ 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) which limit 4) with limiting

15- 1) are expended 2) that they are expended

3) than you expend 4) to expend




Part C. Reaomprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4).
Then mark it on your answer sheet.

Passage 1

We have assumed so far that the solar constant, the output of light and heat from the sun, is
steady. Recent evidence based on variability of sunspots and faculae (bright spots) shows that
the output varied by +0.2% over centuries (Lean, Beer, and Bradley, 1995), and that this
variability is correlated with changes in global mean temperature of Earth's surface of +0.4°C.
(figure 5.14). In addition, White and Cayan (1998) found a small 12 yr, 22 yr, and longer
period variations of sea-surface temperature measured by bathythermographs and ship-board
thermometers over the past century. The observed response of Earth to solar variability is about
that calculated from numerical models of the coupled ocean-atmosphere climate system. Many
other changes in climate and weather have been attributed to solar variability. The correlations
are somewhat controversial, and much more information can be found in Hoyt and Schatten’s
(1997) book on the subject.

16- What is the passage mainly about?
1) Variations in solar constant 2) Variability of sunspots and faculae
3) Research studies backing the solar constant 4) Earth’s reaction to solar variability

17- The passage states that the output of light and heat from the Sun is --------- .
1) fixed 2) variable
3) impossible to calculate precisely 4) much more than already assumed

18- According to the passage, there is a relationship between the amount of output,
referred to in line 1, and --------- .
1) the observed response of Earth to solar variability
2) variations of sea-surface temperature
3) the global mean temperature of Earth's surface
4) the observed response of Earth to the solar constant

19- The word "attributed" in line 9 is closest in meaning to --------- .
1) directed 2) contributed 3) ascribed 4) fluctuated

20- What does the author state about the relationships between the variables cited in the
passage?
1) They are disputed by some.
2) They are well-established in the field.
3) They are rejected by Hoyt and Schatten.
4) They are not significantly meaningful.
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Passage 2

The coldest, saltiest water in the ocean is produced on the continental shelf around
Antarctica in winter, mostly from the shallow Weddell and Ross seas. The cold salty water
drains from the shelves, entrains some deep water, and spreads out along the sea floor.
Eventually, 8-10 Sv of bottom water are formed (Orsi, Johnson, and Bullister, 1999). This
dense water then seeps into all the ocean basins. By definition, this water is too dense to cross
through the Drake Passage, so it is not circumpolar water.

21- The passage involves NONE of the following EXCEPT a --------- .
1) definition
2) process
3) problem followed by a solution
4) statement of a hypothesis supported by “acts and figures

22- Which one of the following cannot be regarded as a feature of the ocean water
produced on the continental shelf around Antarctica in winter?

1) Cold 2) Dense 3) Salty 4) Shallow
23- The word "Eventually" in line 3 could best be replaced by --------- .

1) apparently 2) subsequently 3) ultimately 4) continuously
Passage 3

Sunlight in the ocean is important for many reasons: It heats sea water, warming the surface
layers; it provides energy required by phytoplankton; it is used for navigation by animals near
the surface; and reflected subsurface light is vsed for mapping chlorophyll concentration from
space.

Light in the ocean travels at a velocity equal to the velocity of light in a vacuum divided by
the index of refraction (n), which is typically n = 1.33. Hence the velocity in water is about
2.25x108 m/s. Because light travels slower in water than in air, some light is reflected at the sea
surface. For light shining straight down on the sea, the reflectivity is (n—1)2/(n+1)2. For
seawater, the reflectivity is 0.02 = 2%. Hence most sunlight reaching the sea surface is
transmitted into the sea, little is reflected. This means that sunlight incident on the ocean in the
tropics is mostly absorbed below the sea surface.

The rate at which sunlight is attenuated detzrmines the depth which is lighted and heated by
the sun. Attenuation is due to absorption by pigments and scattering by molecules and
particles. Attenuation depends on wavelength. Blue light is absorbed least, red light is absorbed
most strongly. Attenuation per unit distance is proportional to the radiance or the irradiance of
light:

dl

-— = —c about (6.12)

dx
where x is the distance along beam, ¢ is an attenuation coefficient (figure 6.17), and I is
irradiance.

24- What is the rhetorical function of paragraph 1?
1) Definition 2) Classification
3) Process description 4) Function description
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25- What is the best title for the passage?
1) Sunlight and Marine Life
2) Light: Its Importance and Velocity
3) Sunlight: Causes for Its Reflection
4) Light in the Ocean and Its Absorption

26- The word “which” in line 5 refers to --------- .
1) velocity 2) vacuum  3) index of refraction 4) light in the ocean

27- According to the passage, the reason why some light is reflected at the sea surface is
that ------=--- .
1) it shines straight down on the sea
2) its reflectivity is dependent on the depth at which it travels
3) most sunlight reaching the sea surface is transmitted into the sea
4) the velocity of light in water is less than it is in air

28- The word “attenuated” in line 11 is closest in meaning to --------- .

1) rarefied 2) deflected 3) lowered 4) penetrated
29- The passage is most likely found in a --------- .

1) ship log 2) scientific journal

3) manual for use by marines 4) magazine with a general readership

30- Which of the following is attenuation said to depend on?
1) Wavelength 2) Velocity 3) Depth 4) Sunlight intensity
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